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HEH

14 34 BE A= 104 115 & 20 & 304
MAHASSHESHETME (THH) 058| 215| 268| 3.28| 445| 6.06| 7.39| 13.38
MAHZ 60 SHHSEHETLEH(FAEF) 153 | 392 | 6.12| 8.63|12.24 | 19.16 | 23.87 | 43.28
MRS SHHSEHENME(HHEES) | 057 1.70| 298| 394| 506| 7.13| 9.35]| 17.13

ASHSIIXNSHHSHNENAE (FA) 112 | 4.02| 6.26| 7.24| 8.74| 11.73 | 14.98 | 26.87
MEHSHHE S TS NENAE (FA) 115| 392| 6.02| 7.13| 8.68 | 11.62 | 14.78 | 26.39
MU DG SHERME(FA)C-P 0.16| 037| 060| 083| 1.20| 182 | 246 | 4.56
MO ESHEXMEH(FA)C-P 0.17| 040| 065| 090| 1.30| 197 | 267 | 4.95
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